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Ch. 24 - Triangle Congruence, SSS, SAS
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Given: ABCD is a square.
Prove: AABD = ACDB

STATEMENTS REASONS
. '\

. C ABCD is a square.| 1.
J

—_—

AB=DC | 2.

—_—

AD = BC definition of a square

BD=BD |3,

LT

AABD = ACDB| 4,

——

Given: AB = ED

4 Cis th_e midpoint of BD.
AB || DE

Prove: AABC = AEDC

STATEMENTS REASONS
AB&ED |5

C is the midpoint of BD. | 6.

BC = DC definition of midpoint

LABC = LEDC| 7. If 2| lines are cutbya

the alternate interior angles
are

AABC = AEDC | 8. postulate
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LESSON PRACTICE

Factor each polynomial and check by multiplying.

1. X°-6X+8 2. X2 - 18X + 80
3. X2-8X+15 4. X2 -9X+20
5. X°- 10X +9 6. X% -4X +3

7. X? - 16X + 55 8. X°-20X + 96

ALGEBRA 1 LESSON PRACTICE 23B
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LESSON PRACTICE 23B

9. X2 - 13X + 42

11. X2 +2X - 3

13. X2 -X-20

15..5X2 + 9X - 2

280

10. X2 - 11X + 24

12. X2 +3X-18

14. X% +2X-15

16. 4X% + 7X - 2

ALGEBRA 1



SYSTEMATIC REVIEW

Build a rectangle and find the factors.

1. X2-3X-10= ( - )(

2. X2 +3X-4= (

Build a rectangle and find the area (product).

3. X-3)X-9) =

5. Find the factors

7. Find the factors

9. Find the factors

ALGEBRA 1 SYSTEMATIC REVIEW 23C

X2 4 X -2,

X2 +3X - 10.

- 2X2 + 7X + 3.

10.

X-3)X-3)=

Check #5 by multiplying the
factors to find the product.

Check #7 by multiplying the
factors to find the product.

Check #9 by multiplying the
factors to find the product.
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SYSTEMATIC REVIEW 23C

Simplify each expression.

11. 3%x32:33= 12.
5p2 A —4

13. ABAT _
AR’

Simplify each term, then add like terms.

-1 2
14. 2AB24+- 2B 3A° _

A B2

15. 3Y=2X+ 7 and Y = -4X.

Solve for both X and Y using substitution.

16. Find three consecutive odd integers such that seven times the second,
plus two times the first, minus six times the third, equals negative one.

17. Twelve coins made up of nickels and dimes have a value of $.95.

How many are there of each coin?

18. Solve: two-thirds divided by five-sixths times one-half.

19. Solve for X: .2X -.02X + 1.4 =2.09

20. 51/2% of 400 = (Hint: Change the percent to a decimal before solving.)

282

ALGEBRA 1



SYSTEMATIC REVIEW

Build a rectangle and find the factors.

1. X2-X-2=(

2. X2 +2X -3 = (

Build a rectangle and find the area (product).

3. X-3)X+9)=

5. Find the factors

7. Find the factors: X2 - 2X - 3.

9. Find the factors:

ALGEBRA 1 SYSTEMATIC REVIEW 23D

- )

- X% - 3X - 4.

X2 =X=6.

10.

. X=-5X+6)=

Check #5 by multiplying the
factors to find the product.

Check #7 by multiplying the
factors to find the product.

Check #9 by multiplying the
factors to find the product.
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SYSTEMATIC REVIEW 23D

Simplity each expression.

1. (102) 12, |52 -
DDD? _
18, S22

Simplify each term, then add like terms.
A 4
14. BBZ+—~3B +—SB =

B4 g

15. Y=-4X+ 5 and 2Y = 4X - 3. Solve for X and Y.

16. Find three consecutive integers such that four times the second, plus three
times the third, minus eight times the first, plus eleven, equals zero.

17. Forty-five coins made up of nickels and dimes have a value of $3.30. How
many are there of each coin?

18. Solve: one-half divided by one-half times three-fourths.

19. Solve for X: 1.03X + .2X - .73X = .45

20. 5%%of250=

(Hint: Change the percent to a decimal before solving)
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A
Given: KE = (_:E_
B D AD = CD
Prove: AABD = ACBD
STATEMENTS REASONS
9. 3 13,
0. = 14.
i £ reflexive
2. a SSS postulate
A B
Given: ABCD is a rhombus
Prove: AABD = ACDB
D €
STATEMENTS REASONS
15. given
16. definition of a rhombus
17, definition of a rhombus
18. Lot reflexive property
19. el b T SSS postulate
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